Worksheet #1
- Balancing Nuclear Equations

When balancing nuclear equations, the sums of the atomic and mass
numbers must be the same on both sides of the equation. In some cases one of
the symbols in the list below will be used to complete the equation. If a new
element is formed, you may need to refer to a periodic table to determine the
symbol that accompanies an atomic number. The first two equations have been

balanced for you. .
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. 13A|27 + 2He4 —) 15P30 + ol"l1

—

2. ,Cuf® + HZ - 2¢n! + | 30Zn®
3.5Ca% — 4Sc® + Ff/ R4

4. Be® + ,He* —» (C12 + J,')’L

5. P + 2 o P2+ _tH [P
6.,CF + __ T H > 65 +  ,He
7..5P% + _Yn | > 4S0 + H!
8.2 + H2 - AT o+ Y

9. C11 > &0 + B

10. ,4Cu8® + (H? — 3OZn64> + :,[] 'k
11. H2 + _ Y O L .On'1

12, 5P¥ + H! o S8+ _‘S_H-e; ,/ Q
13. N4 + 3 ’/ e 8017‘>+"1H1

23
14. 94PU239 + 1H1 - On1 + ;!YAN ]
: pJ

s .
15. poCu8® + H' — ,CP8 + o' + __Jb_m___
16 ,,CUS + (HZ = ,0u8t + _ ( ';H,?//Jﬁ-
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JLif + on' o LHet + _JH
LS+ (H2 > Be’ + N
51Sb121 + on1 —> 51Sb122 + Y
oY B;
82Pb214 —> 160 + 85 f
{3
290U63 + 1H2 - 1H3 + 7‘Y a‘
: { i
]
3
3Li6 + 1H1 —> 2He4 + 2"\e
:Lu)A
Yx m - 93Np237 + 2He4
{
1H2 + 1H2 -5 2H93 + bY)
14Si28 + ,D? > 14Si29 + ?/lH
Be? + oHe* — 4L + 3 )
270059 + 0“1 —> 270060 + Y
{
18Ar40 + 1H2 - 18A|'41 + 'H
7N14 + 2He4 —> 1H1 + ‘go
0 o
oF'® —» g0 + F*IHZ
L
4889 + 2He4 —> 6C12 +
. 337
92U239 e d _130 + f§ NY
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652 + ot - HT o+ P
24):

94PU239 + 2 On1 —
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